**Date: Feb- 07 - 2023.** <u>Trun Key Project: 12</u>

To, Driector BIAM Foundation Regional Centre Bogura Sadar, Bogura.

## Subject: Cost Estimation for Library Interior construction work at BIAM Foundation, Bogura.

Sir,

This is the cost estimation for the interior work of your Institut. Here describe all materials detail, per-unit price with labor charge, paint, hardware, carrying, fitting, fixing etc. Please check it out and inform me if any clarification.

	Cost Estimation						
SL.NO	DESCRIPTION OF ITEMS	UNIT	QTY	RATE	SUB - TOTAL AMOUNT	TOTAL AMOUNT	
Α	CEILING DESIGN WORK						
1.01	Ceiling made by 12mm super jutex Plain Board, 2/1" Gorjon Wood Batem with plastic Paint. Fitting-Fixing, Hardware, Installation charge including price as per design.	SFT	70	275	19250		
В	FALSE WALL PARTITION WORK						
1.01	Made by 12mm super jutex Plain Board,16mm Malemain Board, 2/1" Gorjon Wood Batem with plastic Paint. Fitting-Fixing, Hardware, Installation charge including price as per design.	SFT	324	350	113400		
C	RAISE FLOOR AREA						
1.01	Made by 18mm Maya Gorjon ply Board. Fitting- Fixing, Hardware, Installation charge including price as per design.	SFT	286	280	80080		
D	GLASS PARTITION WORK						
1.01	Made by 10mm Clear Glass. Fitting-Fixing, Hardware, Installation charge including price as per design.	SFT	98	240	23520		
1.02	Tampered Glass Door. Fitting-Fixing, Hardware, Installation charge including price as per design.	PCS	2	15500	31000		
Е	PHOTO GALLERY						
1.01	Inject print Media. Fitting-Fixing, Hardware, Installation charge including price as per design.	SFT	252	80	20160		
F	PVC FLOOR				_	_	
1.01	Fitting-Fixing, Hardware, Installation charge including price as per design.	SFT	638	195	124410		
G	DOOR & TABLE CUTTING WORK	L/S	1	6500	6500		
Н	ELECTRIC WORK						
				_			

1.01	T5 Tube light, 4" Palen Led light, 3.5" spot light, Seling Fan Hanging Led light, made by Chaina. ATR DNA Switch.Supply, Fitting-Fixing, Hardware, Installation charge including price as per design.	L/S	1	20000	20000	
						438320
	Total Construction Cost (Materials with Fitting & Caring)					
	Design & Execution fee ( 15% of Total Construction Cost)					65748
					Total	504068
1.00	AC (General) 2 ton	PCS	3	95000	285000	
2.00	LIBRARY BOOK PURCHASE	L/S	1	1000000	1000000	
3.00	STEEL ALMIRAH	PCS	5	16000	80000	
						1365000
	Total Cost					1869068

In Word: Eighteen Lac Sixty Nine Thousand Sixty Eight Taka Only.

Thanking you	Approved by		
Md. Sazzad Hossain			
Interior Architect	Driector		
Chief Design & planning	BIAM Foundation		
Art Home Interior Firm ( Bogura ).	Bogura Sadar, Bogura.		
Co.Number: +88 01723887887	Co. Number: +88 01		